# The relations among k-Fibonacci, k-Lucas and generalized k-Fibonacci numbers and the spectral norms of the matrices of involving these numbers

K. Uslu, N. Taskara, S. Uygun\* Selçuk University, Science Faculty, Department of Mathematics, 42075, Campus, Konya, Turkey

March 23, 2011

### Abstract

In this study, we obtain the relations among k-Fibonacci, k-Lucas and generalized k-Fibonacci numbers. Then we define circulant matrices involving k-Lucas and generalized k-Fibonacci numbers. In the last of this study, we investigate the upper and lower bounds for the norms these matrices.

Keywords: k-Lucas number, k-Fibonacci number, generalized k-Fibonacci number, circulant matrix.

AMS Classification: 11B39, 11B65.

## 1 Introduction

In the last years, it has been studied on Fibonacci, Lucas and generalized Fibonacci sequences. For  $n \geq 1$ , these sequences are defined by recurrence relations  $F_{n+1} = F_n + F_{n-1}$ ,  $(F_0 = 0, F_1 = 1)$ ,  $L_{n+1} = L_n + L_{n-1}$ ,  $(L_0 = 2, L_1 = 1)$  and  $G_{n+1} = G_n + G_{n-1}$ ,  $(G_0 = a, G_1 = b)$ ,  $(a, b \in \mathbb{R})$  respectively [3]. In the literature, in [4-7], there are the some generalizations of the Fibonacci and Lucas sequences. For instance, in [4-5], Falcon and Plaza introduce k-Fibonacci sequence  $\{F_{k,n}\}_{n=0}^{\infty}$  by using

<sup>\*</sup>e-mail: kuslu@selcuk.edu.tr ntaskara@selcuk.edu.tr suygun@gantep.edu.tr

Fibonacci and Pell sequences. Many properties of these numbers were deduced directly from elementary matrix algebra. In [6], it is given k-Lucas sequence  $\{L_{k,n}\}_{n=0}^{\infty}$  and obtain some identities related to these sequence. Then, in [7], we defined a new generalization  $\{G_{k,n}\}_{n\in\mathbb{N}}$  of k-Fibonacci family. Additionally we also obtained some properties related these numbers. We can also see that it has been investigated the norms of some special matrices with these numbers in many studies. For instance, Solak, in [8], defined the  $n \times n$  circulant matrices. Additionally, he investigated the upper and lower bounds of these matrices. Shen and Cen, in [9-10], have found upper and lower bounds for the spectral norms of r-circulant matrices.

In this study, we have given new relations among k-Fibonacci, k-Lucas and Generalized k-Fibonacci numbers. Moreover we define the circulant matrices involving these numbers. Then, we have obtained some bounds for these matrices.

Firstly, let us give well-known preliminaries related to our studies. The circulant matrix  $C = [c_{ij}] \in M_{n,n}(\mathbb{C})$  is defined by the form

$$C = \begin{pmatrix} c_1 & c_2 & c_3 & \dots & c_n \\ c_n & c_1 & c_2 & \dots & c_{n-1} \\ c_{n-1} & c_n & c_1 & \dots & c_{n-2} \\ \dots & \dots & \dots & \dots & \dots \\ c_2 & c_3 & c_4 & \dots & c_1 \end{pmatrix}.$$

For each i, j = 1, 2, 3, ..., n and k = 0, 1, 2, ..., n - 1, all the elements (i, j) such that  $(j-i) \equiv s \pmod{n}$  have the same value  $c_s$ , these elements form the so-called sth stripe of C.

Let us take any matrix  $A = [a_{ij}] \in M_{m,n}(\mathbb{C})$ . Then, in [1-3], the following properties are hold:

• 
$$||A||_F = \left[\sum_{i=1}^m \sum_{j=1}^n |a_{ij}|^2\right]^{\frac{1}{2}}$$
 (frobenius norm),

- $\|A\|_2 = \sqrt{\max_{1 \le i \le n} \lambda_i (A^H A)}$  (spectral norm), where  $A^H$  is the conjugate transpose of matrix A,
- $c_1(A) = \max_j \sqrt{\sum_i |a_{ij}|^2}$  (the maximum column length norm),  $r_1(A) = \max_i \sqrt{\sum_j |a_{ij}|^2}$  (the maximum row length norm).

The following inequality is hold between the frobenius and spectral norms

$$\frac{1}{\sqrt{n}} \|A\|_F \le \|A\|_2 \le \|A\|_F . \tag{1}$$

### 2 Main results

For any positive real number k, Generalized k-Fibonacci sequence  $\{G_{k,n}\}_{n\in\mathbb{N}}$  is defined by recurrence relation

$$G_{k,n+1} = kG_{k,n} + G_{k,n-1}, \quad n \ge 1$$
 (2)

with initial conditions  $G_{k,0}=a$ ,  $G_{k,1}=b$   $(a,b\in\mathbb{R})$  [7]. Generalized k-Fibonacci number is called to each element of Generalized k-Fibonacci sequence. For a=0, b=1 and a=2, b=1, it is obtained k-Fibonacci sequence and k-Lucas sequence, respectively. Also, generalized k-Fibonacci sequence turn into integer number sequence for some special values of k. For example, in generalized k-Fibonacci sequence  $\{G_{k,n}\}_{n\in\mathbb{N}}$ ;

i. If k = 1, then we have generalized Fibonacci sequence

$${G_{1,n}} = {a, b, a+b, a+2b, 2a+3b, \cdots}.$$

- For a = 0, b = 1, it is obtained Fibonacci sequence known as  $F_n = \{0, 1, 1, 2, 3, 5, \dots\}$ .
- For a=2, b=1, it is obtained Lucas sequence known as  $L_n=\{2,1,3,4,7,11,\cdots\}$ .
- ii. If k = 2, then we have generalized Pell sequence

$${G_{2,n}} = {a, b, a+2b, 2a+5b, 5a+12b, 12a+29b, \cdots}.$$

- For a=0, b=1, it is obtained Pell sequence known as  $P_n=\{0,1,2,5,12,29,\cdots\}$ .
- For a=2, b=2, it is obtained Pell-Lucas sequence known as  $P_n = \{2, 2, 6, 14, 34, 82, \dots\}$ .

In the following theorems, we give the relations among generalized k-

Fibonacci, k-Fibonacci and k-Lucas numbers.

**Theorem 1** We have the relation between  $\{G_{k,n}\}_{n\in\mathbb{N}}$  and  $\{F_{k,n}\}_{n\in\mathbb{N}}$ :

$$G_{k, n} = aF_{k, n-1} + bF_{k, n}. (3)$$

**Proof.** Let us use the principle of mathematical induction on m. Since  $F_{k,0}=0$ ,  $F_{k,1}=1$ , we can write  $G_{k,1}=aF_{k,0}+bF_{k,1}=b$ , the statement is true for m=1. Assume that the given statement is true for every m, that is

$$G_{k, m} = aF_{k, m-1} + bF_{k, m}$$

Now, we must show that  $G_{k, m+1} = aF_{k, m} + bF_{k, m+1}$ . From (2), we can write

$$G_{k, m+1} = kG_{k, m} + G_{k, m-1}$$

$$= k(aF_{k, m-1} + bF_{k, m}) + (aF_{k, m-2} + bF_{k, m-1})$$

$$= a(kF_{k, m-1} + F_{k, m-2}) + b(kF_{k, m} + F_{k, m-1})$$

Considering the recurrence equality  $F_{k, m+1} = kF_{k, m} + F_{k, m-1}$  for k-Fibonacci numbers, we have

$$G_{k, m+1} = aF_{k, m} + bF_{k, m+1},$$

thus, for every  $m \in \mathbb{N}$ , the given equality is hold.

**Theorem 2** We have the relation between  $\{G_{k,n}\}_{n\in\mathbb{N}}$  and  $\{L_{k,n}\}_{n\in\mathbb{N}}$ :

$$G_{k, n} = \frac{a(2L_{k, n} - L_{k, n-1}) + b(2L_{k, n+1} - L_{k, n})}{2k + 3}.$$
 (4)

**Proof.** Let us use the principle of mathematical induction on m. Since  $L_{k,0}=2$ ,  $L_{k,1}=1$  and  $L_{k,2}=k+2$ , we have

$$G_{k,1} = \frac{a(2L_{k,1} - L_{k,0}) + b(2L_{k,2} - L_{k,1})}{2k+3} = b.$$

Thus the statement is true for m = 1. Assume that the given statement is true for every m, that is,

$$G_{k, m} = \frac{a (2L_{k, m} - L_{k, m-1}) + b (2L_{k, m+1} - L_{k, m})}{2k+3}.$$

Now, we must show that

$$G_{k, m+1} = \frac{a(2L_{k, m+1} - L_{k, m}) + b(2L_{k, m+2} - L_{k, m+1})}{2k+3}.$$

From (2), we can write

$$\begin{array}{rcl} G_{k,\ m+1} & = & kG_{k,\ m} + G_{k,\ m-1} \\ & = & k \left( \frac{a\left(2L_{k,\ m} - L_{k,\ m-1}\right) + b\left(2L_{k,\ m+1} - L_{k,\ m}\right)}{2k+3} \right) + \\ & & \left( \frac{a\left(2L_{k,\ m-1} - L_{k,\ m-2}\right) + b\left(2L_{k,\ m} - L_{k,\ m-1}\right)}{2k+3} \right) \cdot \\ G_{k,\ m+1} & = & a \left( \frac{2(kL_{k,\ m} + L_{k,\ m-1}) - (kL_{k,\ m-1} + L_{k,\ m-2})}{2k+3} \right) + \\ & & b \left( \frac{2(kL_{k,\ m+1} + L_{k,\ m}) - (kL_{k,\ m} + L_{k,\ m-1})}{2k+3} \right) \cdot \end{array}$$

Considering the recurrence equality  $L_{k, m+1} = kL_{k, m} + L_{k, m-1}$  for k-Lucas numbers, we have

$$G_{k, m+1} = \frac{a\left(2L_{k, m+1} - L_{k, m}\right) + b\left(2L_{k, m+2} - L_{k, m+1}\right)}{2k+3},$$

as required.

Corollary 3 We have relations between  $\{F_{k,n}\}_{n\in\mathbb{N}}$  and  $\{L_{k,n}\}_{n\in\mathbb{N}}$ :

$$F_{k, n} = \frac{2L_{k, n+1} - L_{k, n}}{2k+3}$$
 and  $L_{k, n} = F_{k, n} + 2F_{k, n-1}$ .

**Proof.** If we take a=0, b=1 in (3) and a=2, b=1 in (4), then we have  $G_{k, n}=F_{k, n}$  and  $G_{k, n}=L_{k, n}$  respectively. In this case, it can be seen clearly the proof of this theorem.

The following two theorems give us the upper and lower bounds for the spectral norms of circulant matrix with k-Lucas and generalized k-Fibonacci numbers.

**Theorem 4** Let the (nxn) matrix A be as  $A = (a_{ij})$  such that  $a_{ij} = L_{k, \pmod{(j-i, n)}}$ . Then we have

$$\sqrt{\frac{L_{k,n}L_{k,n-1} + 4k - 2}{k}} \le \|A\|_2$$

and

$$\|A\|_2 \leq \frac{\sqrt{L_{k,n}L_{k,n-1} + 4k - 2}\sqrt{L_{k,n}L_{k,n-1} + k - 2}}{k},$$

where  $\|.\|_2$  is the spectral norm and  $L_{k,n}$  denote k-Lucas numbers. **Proof.** The matrix A is of the form

$$A = \begin{pmatrix} L_{k,0} & L_{k,1} & L_{k,2} & \dots & L_{k,n-1} \\ L_{k,n-1} & L_{k,0} & L_{k,1} & \dots & L_{k,n-2} \\ L_{k,n-2} & L_{k,n-1} & L_{k,0} & \dots & L_{k,n-3} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ L_{k,1} & L_{k,2} & L_{k,3} & \dots & L_{k,0} \end{pmatrix}.$$

From definition of Frobenius norm, we have

$$\begin{split} \|A\|_F^2 &= n. \sum_{s=0}^{n-1} L_{k,s}^2 = n. \sum_{s=0}^{n-1} L_{k,s} \left( \frac{L_{k,s+1} - L_{k,s-1}}{k} \right) \\ &= n \sum_{s=0}^{n-1} \frac{L_{k,s} L_{k,s+1}}{k} - \sum_{s=0}^{n-1} \frac{L_{k,s} L_{k,s-1}}{k} \\ &= \frac{n}{k} \left( L_{k,n} L_{k,n-1} - L_{k,0} L_{k,-1} \right). \end{split}$$

From (1),  $L_{k,0} = 2$  and  $L_{k,-1} = 1 - 2k$ , the following result is obtained

$$\frac{1}{\sqrt{n}} \|A\|_F = \sqrt{\frac{1}{k} \left( L_{k,n} L_{k,n-1} + 4k - 2 \right)} \le \|A\|_2.$$

On the other hand, let matrices B and C be as

$$B = (b_{ij}) = \begin{cases} b_{ij} = L_{k, \text{ (mod } (j-i, n))} &, i \ge j \\ b_{ij} = 1 &, i < j \end{cases}$$

and

$$C = (c_{ij}) = \begin{cases} c_{ij} = L_{k, \text{ (mod } (j-i, n))} &, i < j \\ c_{ij} = 1 &, i \ge j \end{cases}$$

such that

$$A = B \circ C$$
.

Then we can write

$$r_1(B) = \max_{i} \sqrt{\sum_{j=1}^{n} |b_{ij}|^2} = \sqrt{\sum_{s=0}^{n-1} L_{k,s}^2} = \sqrt{\frac{1}{k} (L_{k,n} L_{k,n-1} + 4k - 2)}.$$

and

$$c_1(C) = \max_{j} \sqrt{\sum_{i=1}^{n} |c_{ij}|^2} = \sqrt{1 + \sum_{s=1}^{n-1} L_{k,s}^2} = \sqrt{\frac{1}{k} (L_{k,n} L_{k,n-1} + k - 2)}.$$

From the last equalities, we have

$$||A||_2 \le r_1(B) \cdot c_1(C) = \frac{1}{k} \sqrt{(L_{k,n}L_{k,n-1} + 4k - 2)(L_{k,n}L_{k,n-1} + k - 2)}.$$

Thus the proof of theorem is completed.

Corollary 5 Let us take the matrix  $A = (a_{ij})$  such that  $a_{ij} = L_{(\text{mod}(j-i, n))}$ . If we take k = 1 in Theorem 4, then it is obtained the following inequality

$$\sqrt{L_n L_{n-1} + 2} \le ||A||_2 \le \sqrt{L_n L_{n-1} + 2} \sqrt{L_{n-1} L_n - 1},$$

where  $\|.\|_2$  is the spectral norm and  $L_n$  denote Lucas numbers.

Corollary 6 Let us take the matrix  $A = (a_{ij})$  such that  $a_{ij} = L_{(mod(j-i, n))}$ . If we take k = 2 in Theorem 4, then it is obtained the following inequality

$$\sqrt{\frac{p_n p_{n-1} + 6}{2}} \le ||A||_2 \le \frac{1}{2} \sqrt{p_{n-1} p_n (p_n p_{n-1} + 6)},$$

where  $\|.\|_2$  is the spectral norm and  $p_n$  denote Pell-Lucas numbers.

**Theorem 7** Let the (nxn) matrix A be as  $A = (a_{ij})$  such that  $a_{ij} = G_{k, \pmod{(j-i, n)}}$ . Then we have

$$\sqrt{\frac{G_{k,n}G_{k,n-1} + a^2k - ab}{k}} \le ||A||_2$$

and

$$||A||_2 \le \frac{1}{k} \sqrt{G_{k,n}G_{k,n-1} + a^2k - ab} \sqrt{G_{k,n}G_{k,n-1} + k - ab},$$

where  $\|.\|_2$  is the spectral norm and  $G_{k,n}$  denote Generalized k-Fibonacci numbers.

**Proof.** We consider the matrix A as follows

$$A = \begin{pmatrix} G_{k,0} & G_{k,1} & G_{k,2} & \dots & G_{k,n-1} \\ G_{k,n-1} & G_{k,0} & G_{k,1} & \dots & G_{k,n-2} \\ G_{k,n-2} & G_{k,n-1} & G_{k,0} & \dots & G_{k,n-3} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ G_{k,1} & G_{k,2} & G_{k,3} & \dots & G_{k,0} \end{pmatrix}.$$

From definition of Frobenius norm, we can write

$$||A||_F^2 = n \cdot \sum_{s=0}^{n-1} G_{k,s}^2 = n \cdot \sum_{s=0}^{n-1} G_{k,s} \left( \frac{G_{k,s+1} - G_{k,s-1}}{k} \right)$$

$$= n \cdot \sum_{s=0}^{n-1} \frac{G_{k,s} G_{k,s+1}}{k} - \sum_{s=0}^{n-1} \frac{G_{k,s} G_{k,s-1}}{k}$$

$$= \frac{n}{k} \left( G_{k,n} G_{k,n-1} - G_{k,0} G_{k,-1} \right).$$

From (1),  $G_{k,0} = a$  and  $G_{k,-1} = b - ak$ , the following result is obvious

$$\frac{1}{\sqrt{n}} \left\| A \right\|_F = \sqrt{\frac{1}{k} \left( G_{k,n} G_{k,n-1} + a^2 k - ab \right)} \quad \leq \left\| A \right\|_2.$$

On the other hand, let matrices B and C be as

$$B = (b_{ij}) = \begin{cases} b_{ij} = G_{k, \text{ (mod } (j-i, n))} &, i \ge j \\ b_{ij} = 1 &, i < j \end{cases}$$

and

$$C = (c_{ij}) = \begin{cases} c_{ij} = G_{k, \text{ (mod } (j-i, n))} &, i < j \\ c_{ij} = 1 &, i \ge j \end{cases}$$

such that

$$A = B \circ C$$

Then

$$r_1(B) = \max_{i} \sqrt{\sum_{j=1}^{n} |b_{ij}|^2} = \sqrt{\sum_{s=0}^{n-1} G_{k,s}^2} = \sqrt{\frac{1}{k} (G_{k,n} G_{k,n-1} + a^2 k - ab)}.$$

and

$$c_1(C) = \max_{j} \sqrt{\sum_{i=1}^{n} |c_{ij}|^2} = \sqrt{1 + \sum_{s=1}^{n-1} G_{k,s}^2} = \sqrt{\frac{1}{k} (G_{k,n} G_{k,n-1} + k - ab)}.$$

In this case, we have

$$||A||_2 \le r_1(B).c_1(C) = \frac{\sqrt{(G_{k,n}G_{k,n-1} + a^2k - ab)(G_{k,n}G_{k,n-1} + k - ab)}}{k}$$

Thus the proof of theorem is completed.

Corollary 8 Let the (nxn) matrix A be as  $A = (a_{ij})$  such that  $a_{ij} = G_{k, \text{ (mod } (j-i, n))}$ . Then we can write

i)

$$\sqrt{\frac{(aF_{k,n-1} + bF_{k,n})(aF_{k,n-2} + bF_{k,n-1}) + a^2k - ab}{k}} \le ||A||_2$$

and

$$||A||_{2} \leq \sqrt{\frac{(aF_{k,n-1}+bF_{k,n})(aF_{k,n-2}+bF_{k,n-1})+a^{2}k-ab}{k}} \sqrt{\frac{(aF_{k,n-1}+bF_{k,n})(aF_{k,n-2}+bF_{k,n-1})+k-ab}{k}},$$

ii)

$$\sqrt{\frac{(au_n + bu_{n+1})(au_{n-1} + bu_n) + (a^2k - ab)(2k + 3)^2}{k(2k+3)^2}} \le ||A||_2$$

and

$$||A||_{2} \leq \left(\sqrt{\frac{(au_{n}+bu_{n+1})(au_{n+3}+bu_{n})+(a^{2}k-ab)(2k+3)^{2}}{k(2k+3)^{2}}}\right)$$
$$\left(\sqrt{\frac{(au_{n}+bu_{n+1})(au_{n+3}+bu_{n})+(a^{2}k-ab)(2k+3)^{2}}{k(2k+3)^{2}}}\right)$$

where  $\| . \|_2$  is the spectral norm,  $u_n = 2L_{k,n} - L_{k,n-1}$ ,  $F_{k,n}$  and  $L_{k,n}$  denote k-Fibonacci and k-Lucas numbers respectively.

**Proof.** From Theorem 7, (3) and (4), the proof of corollary is obvious.

Corollary 9 Let the matrix A be as  $A = (a_{ij})$  such that  $a_{ij} = G_{(\text{mod}(j-i, n))}$ . If we take k = 1 in Theorem 7, then it is obtained the following inequality

$$\sqrt{G_n G_{n-1} + a^2 - ab} \le ||A||_2$$

and

$$||A||_2 \le \sqrt{G_n G_{n-1} + a^2 - ab} \sqrt{G_n G_{n-1} + 1 - ab},$$

where generalized Fibonacci number  $G_n$  is solution of recurrence relation  $G_{n+1} = G_n + G_{n-1}$ , with initial values  $G_0 = a$ ,  $G_1 = b$ ,  $(a, b \in \mathbb{R})$ .

Corollary 10 Let the matrix A be as  $A = (a_{ij})$  such that  $a_{ij} = P_{(\text{mod}(j-i, n))}$ . If we take k = 2 in Theorem 7, then it is obtained the following inequality

$$\sqrt{\frac{P_nP_{n-1}+2a^2-ab}{2}}\leq \|A\|_2$$

and

$$\|A\|_2 \leq \frac{1}{2} \sqrt{P_n P_{n-1} + 2a^2 - ab} \sqrt{P_n P_{n-1} + 2 - ab},$$

where generalized Pell number  $P_n$  is solution of recurrence relation  $P_{n+1} = 2P_n + P_{n-1}$ , with initial values  $P_0 = a$ ,  $P_1 = b$ ,  $(a, b \in \mathbb{R})$ .

# References

- Visick G., A quantitative version of the observation that the Hadamard product is a principal submatrix of the Kronecker product, Lineer Algebra Appl., 304, 45-68, 2000.
- [2] Mathias R., The spectral norm of a nonnegative matrix, Lineer Algebra Appl., 131, 269-284, 1990.
- [3] Koshy T., Fibonacci and Lucas numbers with applications 1-2, John Wiley&Sons, Inc., New York, 2001.
- [4] Falcon S., Plaza A., On the Fibonacci k-numbers, Chaos, Solutions and Fractals, 32, 1615-1624, 2007.
- [5] Falcon S., Plaza A., The k-Fibonacci sequence and the Pascal 2-triangle, Chaos, Solutions and Fractals, 33, 38-49, 2007.
- [6] Bolat C., Properties and applications of k-Fibonacci, k-Lucas numbers,M.S. Thesis, Selcuk University, Konya, Turkey, 2008.

- [7] Uslu K., Taskara N., Kose H., The Generalized k-Fibonacci and k-Lucas numbers, Ars Combinatoria, 99, 25-32, 2011.
- [8] Solak S., On the norms of circulant matrices with the Fibonacci and Lucas numbers, Appl. Math. Comput., 160, 125-132, 2005.
- [9] Shen S., Cen J., On the spectral norms of r-circulant matrices with the k-Fibonacci and k-Lucas numbers, Int. J. Contemp. Math. Sciences, 5(12), 569-578, 2010.
- [10] Shen S., Cen J., On the bounds for the norms of r-circulant matrices with the Fibonacci and Lucas numbers, Applied Mathematics and Computation 216, 2891-2897, 2010.